
SPARE PARTS
WORKBOOK



Hull Parts - Bow Area

Number Description Product Code

1 Allen Hatch 4 Inch: Sealing Ring A338
2 Allen Hatch 4 Inch: Black A337BLACK
3 Pozzi pan screw 6 x 3/4 FIX-S6-P01
4 Allen Hatch 4 Inch: Black A337BLACK
5 SCK CSK M/SCREW M6 X 20 FIX-B6-C20
6 RS Tera/Quba Front Carry Handle RSM-HF-101
8 Pozzi pan machine screw M6 X 12 FIX-B6-P12

10 Pozzi pan machine screw M6 X 12 FIX-B6-P12
11 RS Tera Mast Deck Plate TER-HF-200
12 RS Tera Mast Pot Wear Strip TER-HF-201

1

2

3

4

5

67 
8

9

1012 



Hull Parts - Daggerboard  Area

1

3

4

5

7 

8

9

10

11
12

Number Description Product Code

1 RS Feva Daggerboard RubberRS Feva Daggerboard Rubber FEV-HF-300
3 RS Tera / RS Quba Daggerboard Surround TER-FO-901
4 Gottifredi Ma�oli Compact 12 - 4mm 
5 Allen Forged Shackle 5mm Pin 11x19mm A5405S
7 Harken Spring 25mm Diameter 51mm Long H071
8 Allen 60mm Pro Ratchet Block A2160
9 SCK CSK M/SCREW M6 X 20 FIX-B6-C20

10 RS Feva Daggerboard Rubber FEV-HF-300
11 SCK CSK M/SCREW M6 X 20 FIX-B6-C20
12 RS Toe Strap Attachment Cross TER-HF-401



Hull Parts -Helm Area

1

2

3

45
6

7 
8

9

1011

13

12

Number Description Product Code

1 King�sher 8 Plait PreStretch 4mm: Black KPS04BLK
2 RS Feva Carry Handle Tubes Each FEV-HF-500
3 RS Tera/ RS Quba Inspection Cap RSM-HF-404
4 King�sher 8 Plait PreStretch 4mm: Black KPS04BLK
5 RS Toe Strap Attachment Cross TER-HF-401
6 SCK CSK M/SCREW M6 X 20 FIX-B6-C20
7 RS Toe Strap Attachment Cross TER-HF-401
8 SCK CSK M/SCREW M6 X 20 FIX-B6-C20
9 King�sher 8 Plait PreStretch 4mm: Black KPS04BLK

10 RS Feva Carry Handle Tubes Each FEV-HF-500
11 Allen 29mm Plain Block with Ingle�eld Clip A178-74
12 King�sher Evolution Performance - 4mm 
13 RS Tera Toestrap TER-HF-400



Hull Parts - Transom

12

2
3

4

Number Description Product Code

1 RS Tera Transom Gudgeon TER-HF-500
2 Pozzi pan machine screw M6 x 16 FIX-B6-P16
3 RS APB Transom Bung RSM-HF-501
4 RS Tera Transom Gudgeon TER-HF-500



Rudder Stock  - Parts

1

2
3

4

5

6
7 8

9
10

11

12

13

14

15

1617

  RS Tera 2011 Spec Mast Conversion Kit 

Number Description Product Code

1 RS Tera Rudder Blade TER-FO-100
2 APB Rudder Blade Pivot Bush Narrow RSM-FO-905
3 Selden Rudder Stock Pivot Bolt: M8 x 40 FIX-B8-P41
4 Nyloc M8 FIX-N8-008
8 Pozzi pan screw 6 x 3/4 FIX-S6-P01
9 RS Tera Rudder Stock Head TER-FO-300

10 King�sher 8 Plait PreStretch 4mm KPS04WHT
11 King�sher 8 Plait PreStretch 4mm KPS04BLK
12 RS Tera Tiller and Extension TER-FO-400
13 Rivet Monel 4.8 x 12.9 FIX-R48-M12
14 Racing Micro with Becket CL270
15 Selden Tiller Extension UJ CA0015
16 Rivet Monel 4.8 x 12.9 FIX-R48-M12
17 RS Tera Tiller Extension: Selden UJ TER-FO-500

15.1 Seasure Flexible UJ S2367A
17.1 RS Tera Tiller Extension: Seasure UJ TER-FO-501

18 Seasure RS APB Rudder Pintle S9597
19 Seasure RS Tera Rudder Pintle Lower S9974
20 Seasure Rudder Retaining Clip Plastic S1819

Old Style Silver Rudder Stock Parts Listed Below: 



Mast Parts

Number Description Product Code

1 RS Tera Lower Mast Heel Plug TER-SP-904
2 RS Tera Deck Collar TER-SP-905
3 Rivet Monel 4.8 x 12 FIX-R48-M12
4 RWO Standard Deck Clip Medium 2 R2835
5 Rivet Monel 4.8 x 18 FIX-R48-M18
6 Clamcleat Roller Fairlead Mk1 Racing Junior CL236
7 Rivet Monel 4.8 x 18 FIX-R48-M18
8 Rivet Monel 4.8 x 18 FIX-R48-M18
9 Rivet Monel 4.8 x 12 FIX-R48-M12

10 RS Tera Gooseneck Collar TER-SP-906
11 Clamcleat Racing Junior MK2 CL211MK2
12 Rivet Monel 4.8 x 18 FIX-R48-M18
13 RS Tera Top Mast End Plug TER-SP-907
14 Rivet Monel 4.8 x 18 FIX-R48-M18
15  RS Tera 2011 Spec Mast Conversion Kit TER-UA-101
16 RS Tera Mast Slide TER-SP-908
17 Rivet Monel 4.8 x 18 FIX-R48-M18
18 RS Tera Top Mast End Plug TER-SP-907

1

2

3

4 5

6
7 

8

9
10

1112

13

14

15

17

18

16



Number Description Product Code

1 RS Tera Boom Outboard End Plug TER-SP-903
2 RWO Standard Deck Clip Medium 2 R2835
3 Allen S/S Twisted Welded Hook (RS200/400 Rig Tension) A4069
4 Rivet Monel 4.8 x 18 FIX-R48-M18
5 Selden Ball Bearing Block 30mm: Single With Becket P403101SBK
6 Allen 38mm Plain Block with Ingle�eld Clip A278-74
7 RS Tera Boom Protector TER-SP-900
8 RWO Standard Deck Clip Medium 2 R2835
9 Rivet Monel 4.8 x 18 FIX-R48-M18

10 Selden Ball Bearing Block 30mm: Single P403101SIN
11 Clamcleat Side Entry Cleat Junior MK2 (Starboard) CL217MK2
12 RWO Standard Deck Clip Medium 2 R2835
13 Allen Fairlead Open Base 9mm A282
14 Rivet Monel 4.8 x 18 FIX-R48-M18
15 RS Tera Boom Inboard End TER-SP-901
16 Rivet Monel 4.8 x 18 FIX-R48-M18
17 RWO 6mm Bobble: Black R1991T
18 Clew Strop RSM-WEB-002

Boom - Parts

1

17

18
2

4

3

5

6

7

8
9

10

11

16

12 13

14
15



Sail | Spars | Covers |Foil

1 2 3 4

5

6

7 

8

9
10

11

12

14

13

15

16

Number Description Product Code

1 RS Tera Pro Mainsail (rolled inc battens and bag) TER-SA-100
2 RS Tera Pro Batten Set TER-SA-901
3 RS Tera Sport Mainsail (inc.battens and bag) TER-SA-101
4 RS Tera Sport Batten Set TER-SA-902
5 RS Tera Mini Sail TER-SA-102
6 RS Tera Polycotton Breatheable Top/Deck Cover TER-CO-100
7 RS Tera Under/Hull Cover TER-CO-200
8 RS Tera Padded Spar Storage Bag TER-CO-400
9 RS Tera Padded Daggerboard Bag TER-CO-300

10 RS Tera Daggerboard TER-FO-200
11 RS Tera Lower Mast TER-SP-300
12 RS Tera Top Mast TER-SP-200
13 RS Tera Boom TER-SP-400
14 RS Tera Rudder Stock Complete TER-WEB-004
15 RS Tera Padded Rudder Bag TER-CO-500
16 RS Digital 8 Sail Number - 230mm RSM-SA-901
17 Top Cover QR Buckle ZCB000
18 RS Tera Sail Decal TER-SA-900



Upgrade Packs & Parts

1

2

3

4

5

6

7 8

9
10

11

12

13

14

15 16

17

18 19

20

Number Description Product Code

1 RS Tera 6:1 Kicker/Vang Upgrade (Allen) TER-UA-203
2 RS Tera Performance Outhaul TER-UA-201
3 Allen 20mm Dynamic Block: Single A2020
4 Gottifredi Ma�oli Compact 12 - 4mm 
5 Allen 20mm Dynamic Block: Single A2020
6 Gottifredi Ma�oli Compact 12 - 4mm 
7 Allen 20mm Dynamic Block: Single A2020
8 RWO Bobble 4mm R1901T
9 Gottifredi Ma�oli Evolution Race - 3mm 

10 Allen S/S Twisted Welded Hook (RS200/400 Rig Tension) A4069
11 RS Tera Race Outhaul Control Line TER-WEB-005
12 RS Tera Performance Downhaul TER-UA-200
13 RWO Bobble 4mm R1901T
14 Gottifredi Ma�oli Compact 12 - 4mm 
15 Allen 20mm Dynamic Block: Single A2020
16 Gottifredi Ma�oli Compact 12 - 4mm 
17 Gottifredi Ma�oli Compact 12 - 4mm 
18 Allen 20mm Dynamic Block: Single A2020
19 RS Tera Race Downhaul Control Line TER-WEB-006



Rowing Kit & Trolley Parts

2

1

Number Description Product Code

1 RS Rowing Kit (Tera/Quba) + Oars, Rowlocks, Sockets, Fixings RSM-UA-100
2 CSK pozzi screw 10 x 1 FIX-S10-C01

Number Description Product Code

1 RS Tera Aluminium Launching Trolley TER-TR-100
2 Trolley Wheel RSM-TR-911
3 RS Tera New Style Trolley Pin TER-TR-902
4 Tera Trolley Button BG8603

 Trolley Parts



Rope List

Description QTY Rope type Colour
Length 
(metres)

Size (mm)

1.  Righting lines 2 8 plait prestretched Black 1 5

2. Transom bridle 1 Evo Performance Black/Orange 1.45 4

3. Mainsheet 1 Evo Sheet Black/Orange 11 7

4. Downhaul 1 Evo Performance Black 1.8 4

5. Kicker strap line 1 1 Evo Performance Black/Orange 2.4 4

6. Kicker strap line 2 1 Evo Performance Black/Orange 0.58 4

7. Painter 1 Evo Sheet Black/Orange 2 7

8. Toe strap shock cord 1 Shock cord Black 0.6 5

9. Toe strap line 1 Evo Performance Black/Orange 0.4 4

10. Water bottle retainer 1 Shock cord Black 0.3 5

11. Dagger board retainer 1 Shock cord Black 0.75 5

12. Rear carry handles 2 Evo Performance Black/Orange 0.5 4

13. Cockpit bung tie 1 8 plait STD Black 0.4 2

14.Outhaul 1 Evo Performance Black 3.2 4

15. Outhaul Shockcord 1 Shock cord Black 1.4 5




